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Puzzle Test for SBI Clerk Pre, IBPS Clerk Pre, LIC Assistant Pre and 
IBPS RRB Assistant Pre Exams. 
 

PT Set No 201 
 

Directions: Study the following information carefully and answer the questions given beside. 
 

Seven persons from A to G were born on 14th April of different years among 1984, 1987, 1991, 
1995, 1998, 2003 and 2004. B was born after two persons. Only one person was born between 
A and D. B was born after D. C was born before but not immediately before E. G was younger 
than E but older than F. 
 
 

1. How many persons were born after D?  

A. 3   B. 1   C. 4   D. 5   E. None of these 
 

2. Find the odd one out? 

A. E-B   B. A-C   C. F-G   D. B-C   E. A-G 
 

3. How many persons were born between C and E? 

A. 1   B. 2   C. 3   D. 4             E. Can't be determined 
 

4. Who was born in 1998? 

A. B   B. E   C. A   D. F   E. None of tthese 
 

5.  What is the difference between the birth years of B and G ? 

A. 12   B. 5   C. 8   D. 7   E. 9 
 
 
 
 

Correct Answers: 

1 2 3 4 5 

D E C B A 
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Common explanations : 

 
Reference: 
 
B was born after two persons. 
Only one person was born between A and D. 
B was born after D. 
  
Inference: 
 
Following schedule can be prepared with the given hints. 
 

Years Persons 

1984   

1987 D 

1991 B 

1995 A 

1998   

2003   

2004   

  
Reference: 
 
C was born before but not immediately before E. 
G was younger than E but older than F. 
 
Inference: 
 
Following schedule can be prepared with the given hints. 
 

Years Persons 

1984 C 

1987 D 

1991 B 

1995 A 

1998 E 

2003 G 

2004 F 
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Answers : 
 
1.   Following the common explanation, we have 
 

5 persons were born after D. 
 
Hence option D is correct. 

 
 

2. Following the common explanation, we have 
 

A-G is the odd one out because the difference of years in which A and G is born is an even number 
unlike others. 
 
Hence option E is correct. 

 
 

3. Following the common explanation, we can say that 
 

3 persons were born between C and E. 
 
Hence option C is correct. 

 
 

4.   Following the common explanation, we have 
 

E was born in 1998. 
 
Hence option B is correct. 

 
 

5. Following the common explanation, we have 
 

The difference between the birth years of B and G is 12. 
 
Hence option A is correct. 
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